


NAME..................................................................................ADM NO..............CLASS.............

TERM 1 END-TERM EXAM 2011
MATHEMATICS FORM 3

TIME: 2½ HRS

ATTEMPT ALL QUESTIONS

SECTION 1 (50 MKS)

1) Factorize and simply the expression							(3 mks)

2a2 – 3ab – 2b2
      4a2 – b2







	





2) Simplify and leave your answer in decimal form.						(3 mks)

0.015 + 0.45 ÷ 1.5
  4.9 x 0.2 + 0.07











3)  The size of an interior angle of a regular polygon is 3x0 and the exterior angle is (x - 20)0. Find the number of sides of the polygon.							(3 mks)














4) Use tables of reciprocals only to work out 						(3 mks)

    3	       +	   13
0.6735	0.156










5) A point M is the midpoint of point A (5, -4) and B (-1, -2). Find the equation of line perpendicular to AB passing through M.							(4 mks)












6) The length and width of a rectangle measured to the nearest mm are 9.5cm and 6.2 cm respectively. Find the percentage error in the area of the rectangle correct to 4sf.	(3 mks)

















7) Five people can build 3 huts in 21 days. How many people can build 6 huts in 15 days when working at the same rate?								(3 mks)












8) Solve the equation;									(3 mks)

X – 1    -  2x – 1   =  2/3
   X              3x







9)  A manufacturer sells a bottle of fruit juice to a trader at a profit of 40%. The trader sells it for shs.84 at a profit of 20%. Find;

a) The trader’s buying price.								(2 mks)











b) The cost of manufacture of one bottle.						(1 mk)











 
10) Evaluate without using logarithms or calculators.					(3 mks)

645/6 x 27-2/3 x 8-2
32-2/5 x 40 x 81-3/4












11) A Kenyan bought goods worth 2,950,000 Japanese Yen. On arrival to Kenya, he paid custom duty of 20% of the value of the goods. If the exchange rates were as follow;-

1 US dollar = 118 Japanese Yen
1 US dollar = 76 Kshs.

Calculate the total cost of the goods in Kshs.						(4 mks)






















12) Use logarithm table to evaluate.								(4 mks)

	0.032  x  14.26   2/3
	     0.00637











13) Solve the inequality  3 – 2x  <  x  ≤  2x + 5  and show your values of x on the number line.	
					       3						             (4 mks) 
  












14) A translation T    maps P (-2, 3) to P1 (10, 10) find the coordinates of Q’ the image of Q (1, 3) 

    under the same translation.								(2 mks)












15) Given that A (-2, 3) and B (1, 4) and a and b are position vectors, find the value of scalar m 

and  n  if    ma + nb =   9									(3 mks)
			      14










16) Find y in the diagram.									(2 mks)




















SECTION  II (50 MKS)

Attempt all Questions

17) a)Complete the tables below for the simultaneous equations;

y + 3x = 3 and -2x + y = -6 for values of -1 ≤ x ≤8						(4 mks)
















b) On the graph paper provided, plot the graph of y + 3x = 3 and y – 2x = -6 and use your graphs solve the two simultaneous equations.						(4 mks)


c) On the same graph, by shading the unwanted regions, indicate the region R which is   
     enclosed by inequalities, y + 3x ≤ 3, y ≥ 2x – 6 and x ≥ 0				(2 mks)
A certain number of girls were to share 600 sweets. Before they shared, 5 more girls joined them and as such each student got 6 sweets less than what she could have gotten earlier.

a) Find the original number of girls.							(6 mks)


























b) Finally, the girls agreed each to contribute an equal number of sweets to give to some children. If the girls ate 450 sweets in total, find the number of sweets each contributed.													(4 mks)







	




18) A cooking pot is made in the shape of hemispherical bottom and frustrum part. The radius of the hemisphere is 35cm and frustrum top is 14cm. The slant height of the top is 60cm.















a) Find the area of the hemisphere.							(2 mks)








b) Find the slant height of the cut cone.							(2 mks)







c) Find the surface area of frustrum part of the pot.					(3 mks)









d) Find the volume of the cone that was cut off.						(3 mks)













19) a) Complete the table below for the function  y = 2x2 – 4x + 6				(2 mks)

	x
	-4
	-3
	-2
	-1
	0
	1
	2
	3
	4
	5

	2x2
	
	18
	
	2
	0
	
	8
	
	
	50

	-4x
	16
	
	8
	
	0
	
	
	-12
	
	

	6
	6
	6
	6
	6
	6
	6
	6
	6
	6
	6

	y
	
	36
	
	
	6
	
	
	
	
	36



b) On the graph paper provided, plot the graph of y = 2x2 – 4x + 6 for -4 ≤ x ≤ 5	(3 mks)

c) Use your graph to solve the equations.

i) 2x2 – 4x = 0										(2 mks)






ii) 2x2 – 8x – 6 = 0										(3 mks)








20)  The table below shows the ages of 60 people who attended a conference.

	Age in yrs
	10-19
	20-29
	30-39
	40-49
	50-59
	60-69
	70-79
	80-89

	
	3
	5
	10
	18
	12
	9
	2
	1



a) State the modal class.									(1 mk)






b) Find the mean age of the attendants.							(5 mks)

















c) Calculate the median age of the attendants.						(4 mks)
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